
PLASTIC WALL MOUNT BRACKET INSTALLATION 
 
Attach the plastic wall mount bracket to the structure using the tapping screw (PLASTIC ANCHOR, PTS1 

M5x30L) as illustrated in the figure. The plastic wall mount bracket must be attached to a structure such as 
hardwood, wall stud, concrete, or a suitable material capable of supporting the final mount assembly. The 
installer may need to change the method of mounting or hardware used depending on the wall material.  
Use the supplied M4 tapping screws to align the wall mount bracket holes to dome housing holes. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
* PLASTIC WALL MOUNT BRACKET PARTS LIST 

NO PART NAME Q’TY 
1 PLASTIC WALL MOUNT BRACKET BASE 1 
2 PLASTIC WALL MOUNT BRACKET COVER 1 
3 TAPPING SCREW 2 
4 TAPPING SCREW 3 
5 PLASTIC ANCHOR 2 
6 TEMPLATE SHEET 1 
7 MANUAL 1 

* NOT INVOLVED IN PRODUCT. 

PRODUCT FEATURES 
 

 Light duty Plastic Wall Mount 
 Maximum load 4.4 lb [2.0 kg] 
 Easy and safe to install. 
 

DOME HOUSING TYPE PER MOUNT HOLE 
Select the camera dome model being installed. The “N” number corresponds to the mounting holes used. 
 
** MOUNT HOLE NUMBER ** 
 
N.2 & N5:  CDI2H12VIFW, CDI4H12VIFW, CDI8H11VIFW,  
 
N.3:  CDI2H12IFW, CDI4H36IW, CDI4H12IFW  
 
N.4:  CDI2D28W, CDI2D28IW        
 
N.6:  B      
 
N.7:  C 
 
N.8:  CDI5H360            
 
N.9:  D                
 
N.10:  CDI2512FW, CDI2512IFW 
    CDI2D12FW, CDI2D12IFW                
 
N.11:  CDT2S12VIFW, CDT2S12VI, CDT2S12IFW 
 
N.12:  E        
 
N.13:  CDI2528W, CDI2528IW  
 
 
 
 
 
 
 
 
DIMENSION (mm) 
 
 
 
 
 
 
 
 
 
 
 
50304556A 

Align the two holes at the top of the 
wall mount with the M5 screws in the 
wall and slide entire assembly onto the 
screws. Connect cables. 

Secure the supplied mounting bracket 
cover. 

M5 PLASTIC ANCHOR 

M5 TAPPING SCREW 

Attach the template sheet to the wall. 
Install the supplied M5x30L anchors 
and M5 tapping screws in noted hole 
locations. 

Assemble the camera bottom case onto 
the wall mount bracket base using 
supplied M4 screws. Use the mounting 
holes noted in the figure that follows.  


